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BNATH (F1-2)

]drnti[‘y the t-luhjl_-r” that

' included 55

the 'State list' of the Indian Coristiviy
i ULIOn

(1} Defence
(2) Marriage
(3) Currency

(4) Agriculture

Complete the triangle numbers hy

replacing question mark

T] = ¥
] & L T b B

(1y 21
(2) 22
(3) 20
4 25

In which famous book Mahatma Gandhi
declared that British rule was established

in India with the cooperation of Indians?

(1) Swaraj Bharat
(2) Bharat Bhoomi

(3) Vande Bharat

(4) Hind Swaraj
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Hifom

() %ad B, D, E
(2) #ae C,D,E
(3 %99 B,C,D
(1) %A, B, C

(F1-9)

Whic

h of the following form part of a
Bimple fond ehnin?
A Grass
B Wheat
C, Human
D Goat
E Elephant

Choose the rorrect answer from the

options given helow

(1) ABE
(2) EDB
3) ACE
M ADC

The depositional feature of a glacier is

(1) Moraine

(2) CLff
(3) Flood plain
(4) Beach

From the following, identify the forest

that are owned or managed by

government of our country.

A PBiological Forests
B. Reserved Forests
C. Protected Forests
D. Unclassed Forests
E Classed Forest

Choose the correct answer from the

options given below:

(1) B,D,E only
(2y C,D, Eonly
(3) B,C, Donly

(4) A, B, Conly
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18.

19.

(F1-8)

Arrange the following oins TP
of their occurrance from h"i'.lnrnrm £ the
prescnl

A Giupta coins

B. Modern age coing

C.  Tughlug coins

D.  Early punch marked COInE

E.  Gold ‘Mohar' from Akhar's reign
Choose the correct answer from the

options given below:

() EBCD,A
(2) A DCESB
3) DACERB I
(40 A, B,C.D, E :

Which organisation aims to  protect
refugees worldwide and facilitates their

return home?

(1) UNICEF
(2) WHO
(3) UNHCR

(4) World Bank

‘Sarahul' is a dance form of Indian state
(1) Andhra Pradesh

(2)  Arunachal Pradesh

(3) Uttrakhand

(4)  Jharkhand
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28.
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30.
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ECE a0

(1) #TE" TH 99

(2) HE B AFH

(@) ML H W
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56.
(1) 42
2 22
{(3) 66
(4) 54
57. wm B o s #, m P § 8
7 m ag 27
(1) ab=0
2y a+bh=0
3 a=0
(4 b>0
5o frelt iz T e Fifved ded & fron s 2,
= zaE1 Jore e fred SEE A % Ll
31 3wz F 82 Met F Fwm @ freen ST
3 4 g iz dE FE H G e Z@T
(sfte H) eFR 7
(1 16
(2 8
(3 27
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BNATH

66. 27, 1E-flﬂ_'.
iy 42
2y oo
3 ae
(4) B4
B57.

If the fraction

Ga.

a
;8 positive then which of

the following is true?

(1)

ab =0
(2) as+b>0
(3)
(4)

a>0

b=0

A ball is droped from a certain height,

then it jump % of its previous height. 1f
the ball is droped from 32 meter, then
how much it will jump (in meters) after

3 jump?

(1) 16
(2) 8
(3 27

(4) 135

(F1-15)




51, % ﬁl'r"hﬁ

he the present waorth of ® 1gy

What will

e = @ 2w § 169 6l. n ;
S Aot L i g years ot 4% per annum
= SR R I.It::1|.ll'1::|||{t1r! |llllllli!|l,‘-".’ Ll
(1} 2150 50 {1} 150,50
(2) ®i549s (2) 16476
(3)  ¥idozs (3 2160.26
) rigp (4) Tie0
32, T WA (o - ; - A'conpof height 24 cm and radius of baga
— z.;_ﬁ:ﬁq?:jw a{ﬁ: # i:ﬁ‘fa;m. m};; 52 L:::, . made up of modelling clay. A child
b 3 1 58+ 31111'.17._ | F=Em 6 reshapes it into 8 sphere. Find the radiug
T g e w0 0 T AR E S i aphate
#1 s &) s 7w it
() 125 & () 1246 em
(2) &M 2y Gem
(@ 638 (3 63cm
(4) 9#d (4) 9cm
58. 5600 ¥9U H A, B, C 3 D § 3@ yew afer | 53. Rs. 5600 is divided into A, B, C and D
T k5 AB=1:2 BC=31 M CD= such that the ratio of shares of A:B = 1:2,
5 : L : ' B:C = 3:1 and C:D = 2:3. Then the share
(1) T 3,200 (1) 3,200
(2) ¥ 1,000 (2) T 1,000
(3) T2000 (3) T 2000
(4) T 3,000 (4) ¥ 3,000
54, AfRfism s jofad s B2oRadqu | 54. Acandoapiece of work in 10 days and B
w wEd # FEH UF Aw wd my in 20 days. They begin together but A
afsr A 3 59 & i 89 8 2 B o wm leaves 2 days before the completion of the
ﬁaﬁmwmﬁﬁmﬂ@mm; work. The whole work will be done in: i
(1) s8fa (1) 8days
(2) 6fa (2) 6days
@ 7%fm @ Tadays
(4) 7fA (4) 7days
(F1-14)

BNATH
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. 69, I m ¥ F Al 3 p 4 1 GowE fgw | 69, If the square of side m and an equilateral
triangle of side n are inscribed in a eircle,
foelt am wwr Il €, aw % 1 7 &

then value of % 18;

X \E m E
o g @ _:.
(3 .—3‘@ s %
(4) % o %
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(1Y 4
(2 8
3 1

60. 3R V2J8./I8.v32 wwim A A B
HTE 2§

(1)
(2)
(3)
(4)

218 8§

61. mftem 4a®+3r+1=0 F & -
(1) =W It g6
(2) I Sl g T8
(3) U Inafas gw
(4) = aEAfEE g

62. H9H BIA HEm A8, A 8, 9, 12, 15 3w B
qofaar femfirm @) 2 e v ot o o 27

(1) 6400
(2) 8100
(3) 3600
(4) 4900

BNATH

6.

61.

62.

(F1 - 16)

If @ and @ are the roots of equation
1 V. _9:u02 then wvalue of
r x-2

Alex? 4 gt is

(1 4

(2) 8

(3 1

(4 2

1t 2.48418,432 are in arithmetic

progression, then next term in sequence

is:

(m 45
@ 60
(3 <50
(4 64

The equation 4x* + /3x +1=0 has:
(1) Four real roots

(2) No real roots

(3) One real root

(4} Two real roots

What is the least number, which is
exactly divisible by 8, 9, 12, 15 and 18
and is also a perfect square?

(1) 6400
(2) 8100
(3) 3600
(4) 4900
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firdt =l 3 $3.00,000 § 30 Fo=E wu
fisni 3/ 15 woge & sltaa @@ 9000
w0 B, 79 AW 15 s 1 aiten e 2

74.

12,000
20,000
10,000
11,000

(1)
(2}
(3)
(4

v % U9 mifee sr aEel @ S ueR 3
e WAl 21 98 U@ W A 0% HifE
fifirm e B o g @ e 0% A
weiall s 27 aw mivs 20 whet wE o
15 ¥ vfg #ier 1 7 § 3w F0de 3
ufi #fiex i o @ wligm 21 fadh #= & 70
FHFH Fel T B

(I} ¢80

(2) T100

(3) %57

'I (4) =63

4.

75. B0 ¥un FT T A UF g9 Wil & wiE 10%
& @2 W IUaey 21 24 w90 § e diEt &
S @lie o aHd 7
(1) 3
(2) 6
(3 4
) 5

BNATH

78.

74.

5.

(F1- 20)

201 = 48 then the value of x*, i5

s
{1
() 16
(3) 4
(4) 64

256

A business man purchased 30 compulers
in 3,00,000. 1f the average cost of 15
computers is T9000, then the average

cost of remaining 15 computers, is

(1) 12,000
(2) 120,000
(3) 10,000
(4) 211,000

A petrol pump owner cheats his customer

in two ways. He mixes 10% Kercsene in

pure petrol and increases the price of
petrol by 10%. If owner purchases 20 litre
pure petral at a rate of T15 per litre and
kerosene at the rate of €3 per litre then
his total profit by selling it 1s:

(1) %80
(2) 100
(3) 57
(4) 63

A dozen pair of socks quoted at T80 are
available at a discount of 10%. How many
pair of socks can be bought for 247

{1y 3
(2) 6
3 4
) 5




. hieyele from his house nt

5 afin 3w @ : 3
10 fady farey &) nfr \T{l. A mon riding
hie office late by

10 kmph ani prenchos

Mext day he

T I i

MY waterm ¢ FraE 2 E
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R wrtem 6 e aps afE peod ¥ = %

. & minute befors, how [ar 18 the office from

il =afth & om f i
A wfem = At 87
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(1} 12 iy
(1) 12km

2y 16 T
2y 16km

3y & Teh
{(3) Ghkm

(4y 7 Tee
: 4y Tkm

S WA F O .
G b e e 1 71. Pie chart of the domestic expenditure of 8 -

house hold

Housing

expenditure  on education 18

mﬁmmqﬁm,mmﬁﬁaﬁm 12 the
& 1600 10 i 8, o T e & Rs. 1,600 more than housing then

expenditure on food i8

(1) Rs. 7,000
(2) Rs. 3,333
(3) Ra. 6,000

(1) 7,000 FO¢
(2) 3,333¥C

(3) 6,000 T
(4) Rs.12,000

(4) 12,000 F9T
BNATH (Er=29




Read the

(1)

{11)

(i)

(iv)

DIRFCTIONG
R'.FIIUD.}-.'(WQ__ QB6) (v}
passage given below and answer This 18 net increase. To give you
the questions that follow gome idea of hirth rate, look at the
At ) socond hand of your watch. Every
A very important world problem " | three babies are born
in fact, | ; . S ! 4 AELEL X
B im inclined to say it 15 the <omewhere in the world. Another
stamportant of all the great world '
problems “‘!11'IL1 1'.n ; L: g T“L-:ll:‘ paby! Another baby! Another bahy!
E C Lal R | i =]
% e 1w bt
present fime — fa.the rapidly You cannat speak qL:I](.:i]:- enough to
ac Wi i e,
increasing pressure of population on keep pace with e
land and on land resources. (vi} This 2normous increase of
It is not so much the nctual JeRHEe i m::m{l: Elmmelnw
onz22 (OE. unless
population of the world but its rate problems. By 202 ¥
of increase which is important. It something extraordinary happens,
works out to be about 1.6 per cent there: will “be | &8 | mAOy = 99
per annum net increase. In terms of 8,000,000,000 people on the surface
numbers this means something like of this earth! So this is a problem
forty to fifty-five million additional which you are going to see in your
people every year. Canada has a lifetime.
population of twenty million-rather
less than six month's climb in world : . -
o . - 82, The most pressing problem in today's
population. .
world is the:
Take Australia. There are ten million : : :
Y ) . (1) increasing pressure of population
pecple in Australia; so it takes the
world less than three months to-add to (2) increase in demand and decrease in
itself a population which peoples that supply
vast country. Let us take another (3) increase in pollution level
crowded coun — England and - :
s i el (4) increasing pressure of land
L : resources
forty-five to fifty million people — just
about a year's supply.
By this time tomorrow and every day, S8-g iusianc and iales arca covutey that:
there will be added to the earth about (1) has fewer people
120,000 extra people — just about the (2) isrichin people
population of the city of York. ’
(3) has a million people
(4) iz crowded
(F1-22)

BNATH

| am not talking about birth rate




AY O nY
= I.I:. -In\_-l! of the Wiord
*y Wats lrl
(3 Peak
(4) enough
85. The population of o
million e
(1 twenty
(2) fhfty
(3) =six
(4) fve

86, The most

dangerous  aspect

population problem js:

(1) rate of stability in population
(2) rate of increase in poverty
{3) rate of decrease in population

{4) rate of increase in population

DIRECTIONS (Q87 — Q91)

In the following passage, some of the

words have been omitted.

passage carefully and choose the correct
answer to each guestion out of the four

alternatives avoided.

The Aryans (87} in northern Asia
and Europe over the wide grasslands. As
their numbers grew and the climate
became drier and the land became
, there was (89)

food for all of them to eat, _ (90) _
they were forced to move to other parts of

the world in search of (91) :

88

87. (1) worked
(2) worned
(3) wandered
(4) wondered

BNATH

HH, i1 S
(4] rarefiod

0 gransaful

(1) greenar

BB, 1y plenty
(2] nedible

() abundant

(1) insufficient

80. (1) Becaure

(2) Yet
(3} Therefore
(1) As

91. (1) shelter
(2) sustenance
(3) riches

(4) money

92. Complete the sentences by choosing the
most suitable option:

The town its appearance

completely since 1980

(1) has changed
(2) hasbeen changing

(3) ischanging

(4) changed

(F1 - 28)

1
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by choosing the

93. Complete the sentenc?
most suitable option
How atoe vou hers? You———— L
meeting
(1) wereto attended
(2)  was ta attend
(3) are to attend

ttend

(4)  were supposed to a

pelt word from the

94, Identify the correctly 8
following options
(1) gramatical
(2) grematical
(3) grammatical
{4 gremmatical

Identify the correctly spelt word from the

895.
following options
(1)  Ommited
(2) Omitted
(3) Omited
(4) Ommitted
96. Choose one word from the options

provided which can be substituted for the
given phrase:

‘Spoken or done without preparation’

(1) Verbatim
(2) Extempore
{3) Verbose
{4) Amateur

8.

99.

100.

ane word from options Provide,

Choose
which can be
FI'HH'”I."’,‘.

‘Being careful to ensure that every dety;

13 correct o

substituted for the give,
1

Stubborn

(1}

(2) Epicursan

(3) Loguagious
(4) Fastidious

In the following sentence an 1diomatie
expression or 2 proverb 18 highlighted,
Salect from the options provided, the
response that the best describes the same;

His promotion 18 00 the cards.

(1) imminent
(2) probable
(3) immanent
(d) evident

In the following sentence an idiomatic
expression or a proverb is highlighted.
Select from the options provided, the
response that the best describes the same.

ot cu a.
(1) Unsuitable for me
(2) Not earmarked for me
(3) A refreshing drink
{(4) A routine piece work

Out of given alternatives, choose the one
which is the closest in meaning to the
word given in the sentence,

It is difficult to authenticate these old
manuscripts.

(1) elucidate
(2) wverify
(3) illustrate
(4) define

(F1 - 24)




64.

66.

BNATH

1 and their

) Bl Sam 9.4 B afn 33w wEaH \ 43, 'The ratio of ¥W0 numbers i8 & A
e e R st HOF s 4 What will be their L M
wEHTUE ) o s \
:: 1~I (1 24
|..| 12 \ e i
A 3 12
(4y 16
= ”'Tlrfl"" HEANST o s b w0 AR EE G4, The HOF of two positive numbers @ and b
1281 ¥ a>b>12 &, 7@ (o,b) B is 12.1f @ > b > 12, then (o,b) i=
o .:-1_, 36) (1) (24, 36)
{2} (36, 24) (2) (36, 24)
{3y (12, 24) (3) {1-1- '=.1.J
4y (24, 12) (4 (24.12)
37 6a = 5b=10c W a+2b+ dc e 66. I 6a = bb = 10c, then value of
da+2b+c : a+ 2b 4+ 3e
Saszbec
. 8 8
1 8- A
(1) 11 ) 11
: 9 3
o it
(2) = (2) 28
13 13
_— i
(3 o ST
4 4
@ 3 &K
- 1
s Fage 75 w90 S Fre 350 ¥ sfi | G6. A vendor mixes two types of tea: One
. o £ T 3:2 % W costing Rs. 75 per kg. and other costing
3 fufara e B ZoR 7E T W AT Rs. 50 per ke in the ratio 3:2. 1f he sells
the mixed variety at Rs. 60 per kg, then
ECED)
1 60 ¥9u Ffd foeil 1 @ § Il 2, his gain or loss percent (approximately),
=g 71 FIA (e ) t is:
(1) 9.1% O’
@ 77% (). 1.9%
(3) 4.6% G i
(4) 8.7% Kk
(F1-17)




T6. Seleot i)y,

* NPpprg

blank from ¢ Priate

. Wi to fil] in t
LU (RTTT ||--|| --'|'.|1|--|.-..|| |I
Wing

Nd chegga

13 ) ench otheg
{ COmMpilam, nt

(2) comploming
(3 complemany

(4] Complimpny

Change the follow

g sentence from direet
to mdirect speech

" - ‘_;l ’ -

Alas! I have broken my mother's phone,”
aaid Ria.
(1) HRia exclaimed sorrowfully that she
has broken her mother's phone
(2) Ria was sorry of that she had broken

her of mother's mohile

(3) Ria was sorrowful that she broke her
mother's phone
(4) Ria sorrowfully exclaimed that she

had broken her mother's phone

Nl b by datemont

nnil
iintement
Y¥OIT  Dmswap

which pary
N armor and  mark

eording |y
Whils vei

Il s '“""H?“'“llﬁlfﬂjJ|1“”¥1bF
oods things (B / P
die_nog e wp

Lkl arg hore (C) / pnd

ul_and wish vourself in
||_;--|-:_|_||||;1_1 it

{2y 13
{d) A
My B

B0. Choos
hoose  the grammatically  correct

Bentence from the options given below:

{1}  He has been living in London for two
years when | went there.

{2) He had been living in London for two
years when | went there.

(3) He lived in London for two years
when | went there.

(4) He was living in London for two

vears when I went there.

78. Choose the sentence that is grammatically 81. Choose the correet form of the word given

correct from the given options: in the bracket in the following sentence:
(1) The light went out while 1 have been “Thé" doctor Sound that=he

playing (bite) by a snake”.
(2) The boy who won the first prize in (1) will be bitten

English 18 my friend’s son ) "%l been bitten
(3) A rolling stones 18 gathering no moss 5 W as bt
(4) We had a drink of a sparkling water (4) ware hitten

(F1-21) H?

BNATH




(2) 3‘““??—!9&3;

(3) Tt

Sl e

24, ﬁ"%m*{‘v"r—mﬁm%

RS Cial!

A wmmym 1 5, 2015
i

B R 1. 158, 2008

C.  mfy L. 2 30, 2014

D.  dfsmim gy 7 9, 2016

EARCLE i O BT p—

Hifry

(1) AN, B-IV, C-1, D-IT
(2) AV, B-L C-II, D-1i1
(@ AL B, C-IV, DI
(4) AL B, CIV, D-1

25, ﬁgmu;%&naimﬁtm%m‘{v

fean Frdait ) sifien feary

(1) 1992
(2) 2003
(3) 1985
(1) 1958

BNATH

23,

24,

25.

(F1-10)

‘Raslila’ 15 a folk dance of
(1
(2)
(3)
(4)

Andhra Pradesh
Arunachal Pradegh
Uttrakhand
Jharkhand

Match List I and List ]

List-] List -11
Al Swachha L. 1= July, 2015
Bharat
Missian
B. Digital India 17, 1% January,
2015
8] Namami 1. 2w October,
Gange 2014
D.  NITI Aayog IV. 7% July, 2015

Chaose the most appropriate answer from
the options given below

(1) AN B-IV, C-1, D-T

(2) ALV, B, C-11, D-ITT

(3) AL BIL C-IV, D-III

(4)  AIIL, B-I, C-IV, D-T1

The year in which United Nations
adopted the UN Guidelines for Consumer
Protection is?

(1) 1992

(2) 2003

(@ 1985

(4) 1958
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46,
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(2)  Tiftgy,
= 1'|'rr|"|,.-'-_:|
4 Tifieg
i1. '§5 W2 =y wifem ) A+
(1} L1
(2) 3R .
{3) Bar
) EEEh
42. ‘Pl ws f afey e # -
iy
(2)
(3 anft
W 3 -
43. 9wl 9 5 = I e =i
qHl-1 11
A W I 3@
B. 31 . 3
(- | 11‘|. IAAH )
D I IV. 3EE
i fau e famedi § @ F8 3w =1 =19 Fif
(1) A-IV, B-1, C-III, D-II
(2) Al B-1I, C-IV, D-1
(3) A-Ill, B:IV, C-II. D-1
(4) A-II, B-III, C-1V, D-I
44, FefefEs 4 vaft’ =1 vafgarh =4 2
{1y famn
2 TEF
3 =
4) T
45, Fefefan a9 0 tEil w0 = F =E 5w Ay
w1 faw T e @ e 50.
e 1 73 THa & fow Ream o d)
(1) 31
(2) s
3 TR
(4) 0
BNATH {(F1-13)
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(1) JEem
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(4) wEm
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(1) ¥ A B D
(2) #&dB,D.E
(3) +&TAB,C
(4) “EFA B E
Fefefta & aea & mahEeh 59 2.
(1) Ters
2 afg
(3) T
(4) TG
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(4)
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N
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10.

11.

12.

Which one of the following methods a
geale is a Universal Method?
1) Graphical scale
(2) Statement of scale
(3) Simple statement
(4) Representative fraction
Numerator in scale represents
(1) Both the distances
(2) Representative fraction
(3) Ground distance
(4) Map distance
Which of the following road safety signi
shows ‘narrow road ahead'?
! &
2 &
X &




14,

1 r= B T TR
18 %1 min W ww T 7

) r;-'mT
12y i)
R .
() RS iy

14, S HIE & ey o 2

(1) MNa:C0,
(2 NaCl
(3) NH.CI
(4) NaHCO,

uﬁi‘ﬁ'ﬂﬂﬁﬁ&ﬁ:ﬁqﬁq‘ﬂ'ﬁﬁﬁmﬂw

15.
a
A fe=
B. Tm
Cc. WHm
D. sRWH
E. =RE™

3 fen m fawedi § @ wdl IW W HWHA
e

1) %FTABD
(2 #&CDE
@3 #FEB,C
4 #aa B,C.E
16, Boffer § @ #9 @1 % A9 A F
frart afi T = @ et
FATRT
(1) e Har st
@ frfim
(3)
(@) wifieg

BNATH

13. Piek 114, "
..I!.I-IIIII. one which is NOT the wypg of
1) rolling friction
() unbripetal friction
L3y sbatic fricLion
M) kinete friction

14, T g
Chermcal formula for ‘haking soda’ 18

(1) Na,Co,
(2) Na(l

3 NH,0
(4)  NaHCco,

Identify online payment Apps out of the

15. °
EIWWEN options
Al Twitter
B. Paytm
C. BHIM
D. Instagram
E. Whatsapp

Choose the correct answer from the
options given below:

(1) A, B,Donly
(2) C,D,Eonly
(3) B, Conly

(4) B,C,Eonly

16. Which term defines the stealing of ideas
and creative work of other people?

Intellectual property rights

(1

(2) Phishing
(3) Piracy

{4) Plagiarism

(F1-17)




7.

= L)

1% wry weft 1 fvem Sl

Het1 111
A HEERR I.  (85-105)
fap.oft,
B. R . (10-45) .5,
C. =WiEkT L 10, 7w
D. MR IV. (45-85) f6. .

9 fou mu i 4 2 o I w1 9

#ifm

(1) A-IV, B-II, C-I, D-ITII
(2) A-lL, B-IV, C-II, D-II1
(3) A-II, B-II, C-I, D-IV

(4) A-ll, B-1, C-T1I, D-IV

frva e feam #a maman war 27

(1) 2099
2) 139"
(3) 227

@ 1594

6.

Match List T with List 1]

List-1 List -11
A. Mesosphere L (B5-105) km
B. Stratosphere IL  (10-45) km,
C. Thermo- ITT.  upto 10 km,
gphere
D. Tropesphere IV. (45-85) km.

Choose the most appropriate answer from

the options given below

(1) A-IV, B-II, C-I, D-111I
(2) A, B-1V, C-I, D-III
(3) A-II B CI, D-IV

(4) AL B-L C-I11, D-IV

World Water Day is celebrated on
(1) March 20
(2) March 13
(3) March 22

(4) March 15




Y0t

A fwg 1 gEa wi

M Frdeh g
O gy
(3 =R
4y fien
9. T I A gy e RPN
gl it
A wWwHEr et et
I TES] §
a4t &0 @
afigd #
B. WwWHad n o,
S i (il
Fram fem 2
C  wrey nI. <8, -
el Py |, W %
fadii & fdm bilils
fran 2
D. AN F Iv. stériarsen
fom 1
w7 8
19 1w e faedt A & wft 3 1 v

Fifu;

(1)
(2)
(3)
(4)

BNATH

A-III, B-1V, C-11, D-T
AL B-1II, C-I, D-IV
A-I, B-II, C-I11, D-IV
A-III, B-1V, C-1, D-I1

B,

(F1-5)

I'I""rlr'\-' the subject that ia immeluded in

the ‘Union list of the Indinn Constitution
() Foreign Affairs

(2)  Paolice

(3)  Trade

(4)  Education

Match List T with List 11
List-] List -11
A MNCs buy at 1 Call centres
cheap rates

from small
producers

B. MNCs have II. Tata Motars,

invested in Ranbaxy
factories

C. Indian III. Garments,
COMPANIES footwear,
that have sports items
nvested
sbroad

D. Ithashelped 1IV. Automobiles
in spreading
of services
Choose the most appropriate answer from

the options given below

(1) AL B-IV, C-I1, D-I
(2) AL B-II, C-1, D-IV
(3) AL B.II, C-111, D-IV
(4)  AJIL B-1V, C-1, D-IT




BNATH

El= it R ;
. i '4'_4 A o 3 e o Ao A
foem =t

=l

=11
i LRI I gFH gt
B uferrd gereft T AL E
e | )
C. fewerfiqn eI ATl
HIT],
D. e fraeh v, it
L] eI

4 fu v fwedi § 4 @t IW AT
=Hifer

(1) A-II, B-IV, C-1, D-1II

(2)  A-IV, B-1, C-III, D-T1

(3 A-I B-II, C-III, D-IV

(4) AL, B-IIL C-1, D-IV

Tt & | -1 e Hifat
get.I afi-11
A U FfEEe ™
§ @ W
eI S
EEie
B SEmmam 1L GECoik et
Gial
C. HEMETEY 1. e
aml aafts &9 °
31 3
firem
p. &I V. deaqd e

ﬁﬁqwﬁﬁq‘iﬁﬁﬂamww
it

(1) A-IL B-II, C-IV, D1
@ Al BII c-IV, D-II
3) AL B-III, C-1, D-IV
(4) AL B-IV, CI, D-III

5.

(F1-3)

Match the following animals with their

category of existence

Last-1 Last -11

A Black buck 1 Hare species

B. Asintie 1 Endangered
elephant EpPECies

C Himalayan 111. Extinet
brown bear EpECIES

D Pink head TV, Vulnerable
duck Fpecies

Choose the most appropriate answer from
the options given below

(1) A-IL, B.IV, C-1, D-111
(2) A-IV, B-1, C-1I1, D-I1
(3) A B-I, C-I11, D-IV
(4) AL BIL, C-1, D-IV

Match List I with List 11
List-1

A.  Tsunami th

List -11

Streams  of
water
moving along
definite
paths
Strong
selsmelc

B. CaspianSea IL

waves
periodic rise
and fall of
water

IV. Largestlake

C. Ocean 111,
currents

D. Tide

Choose the most appropriate answer from

the options given below

(1) AT, BI1, C-1V, D-1
(2) A B, c-1v, D-111
(3) A1, B, C-1, D-IV
(4) AL B-IV, C-1, D-111




